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1. Assuming earth as a uniform sphere of radius
R, if we project a body along the smooth
diametrical tube from the centre of earth with
a speed v such that it will just reach the earth's
surface then v is equal to

(1) gR (2) 2gR

(3) 
gR
2 (4) none of these

2. An electron of mass m when accelerated
through a potential  dif ference V has
de-Broglie wavelength . The de-Broglie
wavelength associated with a proton of mass
M accelerated through the same potential
difference will be:-

(1) m
M

(2) 
m
M (3) 

M
m (4)

M
m

3. A uniform magnetic field of induction B is
confined to a cylindrical region of radius R.
The  magnetic  field  is  increasing  at  a

constant rate 
dB
dt T/sec. An electron placed

at the point P on the periphery of the field.
experience an acceleration.

× ×
××
××××××

×××××

×
×
×
R××

×
P

(1) 1 eR dB
2 m dt

toward left

(2) 1 eR dB
2 m dt

 toward right

(3) eR dB
m dt

toward left

(4) zero

1.  R ,] ;

%  v 
 ; =  v 

(1) gR (2) 2gR

(3) 
gR
2 (4) 

2. m  V 
/;   M 

/;  :-

(1)
m
M (2) 

m
M (3) 

M
m     (4)

M
m

3. ; { = B  R  ,  { =

; { =  
dB
dt T/sec <+

 ,  { =  P 
&

× ×
××
××××××

×××××

×
×
×
R××

×
P

(1) 1 eR dB
2 m dt

(2) 1 eR dB
2 m dt

(3) eR dB
m dt

(4) ;
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4. In the nuclear fusion reaction
2 3 4 1
1 1 2 0H H He n,  given that the repulsive
potential energy between the two nuclei is
–7.7 × 10–14 J. The temperature at which the
gases must be heated to initiate the reaction
is nearly, [Boltzmann's constant,
k = 1.38 × 10–23 J/K] :-
(1) 109 K (2) 107 K
(3) 105 K (4) 103 K

5. The maximum height reached by projectile
is  4  m  and  horizontal  range  is  12m.  The
velocity of projection is

(1) 
g5
2 (2) 

g3
2 (3) 

1 g
3 2 (4) 

1 g
5 2

6. Five identical plates are connected across a
Battery as given in the diagram if the charge
on plate 3 is +2q then charges on the plates
1,2,4,5 will be :-

1
2

3
4

5

(1) 2q, –2q, 2q, –2q (2) 2q, q, 2q, q
(3) q, –2q, –2q, q (4) q, 2q, –2q, q

7. The diode shown in the circuit is a silicon
diode. The potential difference between the
points A and B will be

6 V

2 S BA

(1) 6V (2) 0.6 V
(3) 0.7 V (4) 0 V

4. ; 
2 3 4 1
1 1 2 0H H He n,  ] 

;  –7.7 × 10–14 J 

] 

[  k = 1.38 × 10–23 J/K] :-
(1) 109 K (2) 107 K
(3) 105 K (4) 103 K

5. ; }  4 m 
 12m &

(1) 
g5
2 (2) 

g3
2 (3) 

1 g
3 2 (4) 

1 g
5 2

6.  ,  ;

 3  +2q  1,2,4,5 

 :-

1
2

3
4

5

(1) 2q, –2q, 2q, –2q (2) 2q, q, 2q, q
(3) q, –2q, –2q, q (4) q, 2q, –2q, q

7. ]  A  B 
 &

6 V

2 S BA

(1) 6V (2) 0.6 V
(3) 0.7 V (4) 0 V
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8. If the coefficient of friction between A and
B is , the maximum acceleration of the
wedge A for which B will remain at rest with
respect  to  the wedge is  :-

45°

A
B

(1) g (2) 
1g
1 –

(3) 
1g
1 (4) 

g

9. The following graph shows two isotherms for
a  fixed  mass  of  an  ideal  gas.  The  ratio  of
r.m.s. speed of the molecules at
temperatures T1 and  T2 is :-

0

1

2

3

4

1 2 3 4

T2

T1

P
(10 Pa)5

V(m )3

(1) 2 2 (2) 2 (3) 
1
2 (4) 4

10. A planet is observed by an astronomical
refracting telescope having an objective of
focal length 16 m and an eye piece of focal
length 2 cm then
(i) The distance between the objective and

the eye-piece is 16.02 m
(ii) the angular magnification of the planet is

800.
(iii) the image of planet is inverted
(iv) the objective is larger than the eye-piece
(1) (i) only (2) (ii) only
(3) (i), (ii) only (4) All

8.  A  B  ?   ]  A
, B 

]  :-

45°

A
B

(1) g (2) 
1g
1 –

(3) 
1g
1 (4) 

g

9.  ,
;  T1  T2 

/;  :-

0

1

2

3

4

1 2 3 4

T2

T1

P
(10 Pa)5

V(m )3

(1) 2 2 (2) 2 (3) 
1
2 (4) 4

10.  ,  [ ; 
 16  , = 

 2 
(i)  , =  

16.02 
(ii) ;  800 
(iii) 
(iv) = ,
(1)  (i) (2)  (ii)
(3)  (i), (ii) (4) 
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11. A stone of mass m is thrown from earth's
surface at an angle  to the horizontal
with an initial velocity v0 ignoring the air
drag, the power developed by gravity force,
t  second after  the beginning of  motion is  :-
(1) mg (gt – v0 sin )
(2) mg v0 sin .t
(3) mg (g – v sin .t)
(4) zero

12. A uniform rod AB of length  and mass m is
free to rotate about point A. The rod is
released from rest in the horizontal position.
Given that the moment of inertia of the rod

about A is m 2

3
, the initial angular

acceleration of the rod will be :-

(1) 3
2
g (2) 2

3
g        (3) g 

2
(4) 3

2
g

13. A system consists of three masses m1, m2 and
m3 connected by a string passing over a
pulley P. The mass m1 hangs freely and m2
and m3 are on a rough horizontal table (the
coefficient of friction = µ). The pulley is
frictionless and of negligible mass. The
downward acceleration of mass m1 is  :
(Assume m1 = m2 = m3 = m)

m1

m2 m3
P

(1) 
g(1 2µ)

9 (2) 
2gµ
3

(3) g(1 2µ)
3 (4) 

g(1 2µ)
2

11. m  ,  {

   v0  
.; ,]   t 

;  } &
(1) mg (gt – v0 sin )
(2) mg v0 sin .t
(3) mg (g – v sin .t)
(4) ;

12.   m  , + AB, 
A  ? , =  {

+ =  A +  

 m 2

3
+  ;  %&

(1) 3
2
g (2) 2

3
g        (3) g 

2
(4) 3

2
g

13. ;  m1, m2  m3  ] 
 P , 

m1  :  m2  m3  [
 (?  µ) ,  ?

.;  m1
 :

 m1 = m2 = m3 = m  )

m1

m2 m3
P

(1) 
g(1 2µ)

9 (2) 
2gµ
3

(3) g(1 2µ)
3 (4) 

g(1 2µ)
2
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14. Photoelectric emission occurs only when the
incident light has more than a certain minimum:-
(1) Power (2) Wavelength
(3) Intensity (4) Frequency

15. Water is flowing through a horizontal tube
according to the figure. Its diameter at two
points  are  0.3  m  and  0.1  m  respectively.
Pressure difference between these two
points is equal to 0.8 m of water column. Find
rate of flow of water in the tube.

0.1m0.3mA B

(1) 32 ltr/s (2) 72 ltr/s
(3) 198 ltr/s (4) 49.5 ltr/s

16. A magnetic needle suspended parallel to a
magnetic field requires 3 J of work to turn
it through 60°. The torque needed to
maintain the needle in this position will be

(1) 3 J (2) 
3
2 J

(3) 2 3 J (4) 3J
17. At constant pressure how much fraction of heat

supplied to gas is converted into mechanical
work?

(1)
1

(2) 1

(3) –1 (4) 1

18. Two vibrating tuning forks produce
progressive waves given by Y1 = 4 sin 500 t
and Y2 = 2 sin 506 t Number of beats produced

per minute is :-
(1) 3 (2) 360
(3) 180 (4) 60

14.  ;

 ,  %&

(1) (2) /;

(3) (4) 
15.  ,  {

% 0.3 m  0.1 m /;

 0.8 m 

0.1m0.3mA B

(1) 32 ltr/s (2) 72 ltr/s
(3) 198 ltr/s (4) 49.5 ltr/s

16. ; { = ;  60°
 3 J ] 

  
  %&

(1) 3 J (2) 
3
2 J

(3) 2 3 J (4) 3J
17. ] 

 %&

(1)
1

(2) 1

(3) –1 (4) 1

18. , =  Y1 = 4 sin 500 t 
Y2 = 2 sin 506 t /; ± 

[; :-

(1) 3 (2) 360

(3) 180 (4) 60
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19.
r t

sI

;  :-
(1) r (2) s
(3) t (4) r–1

20.  m ]  ,
;  t 
 ;  u 

 ( ) :-

(1) 
2
0fu

2m

(2) 
2T

u
8m

           
f0

Force

T
t

(3) 0f T
u

4m

(4) 0f T
u

2m

21.  (–q) x-y % (0, –a)  (0,

a)  (2a, 0)  ,  /  +Q 

 Q :-

(1)  :
(2)

(3) % 

(4)

22.  2   /

5

2

20V
10V

10

(1) 5A (2) 2A (3) ; (4) 4A

19.
r t

sI

Flux passing through loop is proportional to :-
(1) r (2) s
(3) t (4) r–1

20. A particle of mass m, initially at rest is acted upon
by a variable force f varying with time  t. It begins
to move with a velocity u after the force stops
acting (curve is a semi circle) :-

(1) 
2
0fu

2m

(2) 
2T

u
8m

           

f0

Force

T
t

(3) 0f T
u

4m

(4) 0f T
u

2m

21. Two equal negative charges –q are fixed at points
(0, –a) and (0, a) in the x-y plane. A positive
charge Q is released from rest at a point (2a, 0).
The  charge  Q  will  :
(1) move to the origin and remain at rest there
(2) move to infinity
(3) execute SHM about the origin
(4) execute oscillatory not SHM

22. In given circuit current related 2  resistance is

5

2

20V
10V

10

(1) 5A (2) 2A (3) Zero (4) 4A
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23. ABC  A'B'C'  /  I  P 

; { =  BP = PB' = r

(  C'B'PBC ) :-

C
I

BI
A

I
A'B'

C'
I

P

(1) 
1 2I

4 r
(2) 0 2I

4 r

(3) 0 I
4 r

(4) ;

24.  } [;   

 ;  :-

(a) 

(b) 

(c) 

(d) 

(1) (a) & (b)

(2) (c) & (d)

(3) (a) & (c)

(4) All above are true

25. } ; 

/; 

(  = 6000 Å)

(1) ; (2)  2

(3)  4 (4)  6

23. Current through ABC and A'B'C' is I. What is the

magentic field at P? BP = PB' = r

(Here C'B'PBC are collinear) :-

C
I

BI
A

I
A'B'

C'
I

P

(1) 
1 2I

4 r
(2) 0 2I

4 r

(3) 0 I
4 r

(4) zero

24. The image of an extented object, placed

perpendicular to the principal axis of a mirror, will

be erect if :-

(a) The object and image both are real

(b) The object and image both are virtual

(c) The object is real but the image is virtual

(d) The object is virtual but the image is real

(1) (a) & (b)

(2) (c) & (d)

(3) (a) & (c)

(4) All above are true

25. In Young's double slit experiment, the phase

difference between the light waves reaching third

bright fringe from the central fringe will be

(  = 6000 Å)

(1) zero (2)  2

(3)  4 (4)  6
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26. PN = 
 :-

(1)

P N
+ 
+ 
+ 
+ 

Vp

(2) 

P N
+ 
+ 
+ 
+ 

Vp

(3)

P N
+ 
+ 
+ 
+ 

Vp

(4) 

P N
+ 
+ 
+ 
+ 

Vp

27.  =
 ;   ;  g 

 =  2%  4% ?
(1) 6%
(2) 4%
(3) 3%
(4) 5%

28.  { =  ˆ
0E = E i  V/m 

 /  (  +q0) ;
 A  B  { = }

 :-

(0,a)

(0,0) (a,0)

A

B

(1) 0 02q aE

(2) 0 0q aE
2

(3) q0a 0

(4) 2q 0a

26. In the case of forward biasing of PN-junction,

which one of the following figures correctly

depicts the direction of flow of carriers :-

(1)

P N
+ 
+ 
+ 
+ 

Vp

(2) 

P N
+ 
+ 
+ 
+ 

Vp

(3)

P N
+ 
+ 
+ 
+ 

Vp

(4) 

P N
+ 
+ 
+ 
+ 

Vp

27. What is the percentage error in the
measurement of time period of a pendulum
if maximum error in the measurement of 
and g are 2% and 4% respectively ?
(1) 6%
(2) 4%
(3) 3%
(4) 5%

28. Electric  field  at  a  place  is  ˆ
0E = E i  V/m. A

particle of charge +q0 moves from point A to
B along a circular path find work done in this
motion by electric  field  :-

(0,a)

(0,0) (a,0)

A

B

(1) 0 02q aE

(2) 0 0q aE
2

(3) q0a 0

(4) 2q 0a
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29. P, Q and R long parallel straight wires in air,
carrying currents as shown. The direction of
resultant force on R is :-

P Q R
2A 4A 6A

r r

(1) towards left
(2) towards right
(3) the same as that of current in Q
(4) perpendicular to plane of paper

30. In a given series LCR circuit R = 4 , XL = 5
and XC = 8 , the current :-
(1) Leads the voltage by tan–1(3/4)
(2) Leads the voltage by tan–1(5/8)
(3) Lags the voltage by tan–1(3/4)
(4) Lags the voltage by tan–1(5/8)

31. The K.E. and P.E. of a particle executing
SHM with amplitude A will be equal when
its displacement is–

(1) A 2 (2) A/2

(3) A / 2 (4) A 2/ 3

32. At what angle should an unpolarised beam be
incident on a crystal of 3 , so that
reflected beam is polarised :-
(1) 45o (2) 60o

(3) 90o (4) 0o

33. We have two spheres one of which is hollow
and the other solid. They have identical
masses and moment of inertia about their
respectively diameters. The ratio of their
radius is given by–
(1) 5 : 7 (2) 3 : 5
(3) 3 : 5 (4) 3 : 7

29.  P, Q  R 
]  R  %&

P Q R
2A 4A 6A

r r

(1) 

(2) 

(3) Q 

(4) 
30. ,  LCR  R = 4 , XL = 5  

XC = 8 ,  /  :-
(1)  tan–1(3/4) 
(2)  tan–1(5/8) 
(3)  tan–1(3/4) 
(4)  tan–1(5/8) 

31.  ,

–

(1) A 2 (2) A/2

(3) A / 2 (4) A 2/ 3

32.  3

 /  :-
(1) 45o (2) 60o

(3) 90o (4) 0o

33.  ,  [  ,
% 

–

(1) 5 : 7 (2) 3 : 5

(3) 3 : 5 (4) 3 : 7
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34. Two  particles  A  and  B  initially  at  rest
move towards each other under a mutual
force of attraction. At the instant when
velocity  of  A  is  v  and  that  of  B  is  2v,  the
velocity of centre of mass of the system is

(1) v (2) 2v

(3) 3v (4) Zero

35. The sensitivity of a galvanometer of
resistance 406 ohm is increased by 30 times.
The shunt used is

(1) 88 

(2) 14 

(3) 6 

(4) 16 

36. A particle undergoes uniform circular
motion. About which point on the plane of
the circle, will the angular momentum of the
particle remain conserved ?

(1) Centre of the circle

(2) On the circumference of the circle

(3) Inside the circle

(4) Outside the circle

37. Let T1 and  T2 be  the  time  periods  of  two
springs A and B when a mass m is suspended
from them separately. Now both the springs
are connected in parallel and same mass m is
suspended with them. Now let T be the time
period in this position. Then
(1) T = T1+ T2

(2) T = 1 2

1 2

T T
T + T

(3) 2 2 2
1 2T T T

(4) 2 2 2
1 2

1 1 1= +
T T T

34.  A  B ] 

 }  ,  {  A 
 v  B  2v 

(1) v (2) 2v

(3) 3v (4) ;

35.  406 ] 
30 &

(1) 88 

(2) 14 

(3) 6 

(4) 16 

36.  , ;  ;
; 

 ?

(1)

(2)

(3)

(4)

37.  T1  T2  A  B ] 
 m  ;

 m ]
 T 

(1) T = T1+ T2

(2) T = 1 2

1 2

T T
T + T

(3) 2 2 2
1 2T T T

(4) 2 2 2
1 2

1 1 1= +
T T T
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38. During an experiment an ideal gas is found
to obey an additional law 2VP = constant.
The gas is initially at temperature T and
volume V.  What will be the temperature of
the gas when it expands to a volume 2V?

(1) T = 4 T (2) T = 2 T

(3) T = 5 T (4) T = 6 T

39. The latent heat of vaporization of water is
2240 J/gm.  If the work done in the process of
vaporization of 1 gm is 168 J, then increase
in internal energy is
(1) 2408 J (2) 2240 J
(3) 2072 J (4) 1904 J

40. The work function of a substance is 4.0 eV. The
longest wavelength of light that can cause
photoelectron emission from this substance is
approximately
(1) 540 nm (2) 400 nm
(3) 310 nm (4) 220nm

41. A train is moving with a speed of 30 m s–1 in
north-south direction on the rails separated by
2 m. If the vertical component of earth’s field
is  8 x 10–5 T, the e.m.f. is
(1) 0.0048 V (2) 0.048 V
(3) 0.48 V (4) 4.8 V

42. An aeroplane is to go along straight line from
A to B, and back again. The relative speed with
respect to wind is V. The wind blows
perpendicular to line AB with speed v. The
distance between A and B is . The total time
for the round trip is:

(1)
2 2

2
V – v

(2) 2 2
2v

V – v

(3) 2 2
2V

V – v  (4) 2 2

2
V + v

38.  2VP = ] 

 ;  T 

V ; , 

2V &

(1) T = 4 T (2) T = 2 T

(3) T = 5 T (4) T = 6 T

39.  2240 J/gm  ;  1 gm
 168 J ] 

,&

(1) 2408 J (2) 2240 J
(3) 2072 J (4) 1904 J

40.  4.0 eV 
/;

(1) 540 nm (2) 400 nm

(3) 310 nm (4) 220nm
41.  30  m  s–1  NS ] 

 2 m  ; ;  { =
 ?  8 x 10–5 T ] 

 %
(1) 0.0048 V (2) 0.048 V
(3) 0.48 V (4) 4.8 V

42.  A  B 
%  V 

 v  AB  A
 B  

; &

(1)
2 2

2
V – v

(2) 2 2
2v

V – v

(3) 2 2
2V

V – v (4) 2 2

2
V + v
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43.
(µ   =4/3)w

water+3mc/s

=  } +;
,) 19 cm/s +;
 :-

(1) 16 cm/s (2) 14 cm/s
(3) 12 cm/s (4) 21 cm/s

44.  S1  S2 =  S1

 1  S2  2

 ?

S1 S2

+q

(1) 1> 2 (2) 1< 2
(3) 1= 2 (4) 

45. = ; { = , ,
; { = 

  =  5t – 10t2 

 t = 0.25s  /  ,
 ?

×      ×      ×      ×    

A B
10

×      ×      ×      ×    
×      ×      ×      ×    

×      ×      ×      ×    

(1) 0.5A, A  B
(2) 0.5A, B  A
(3) 1.5A, A  B
(4) Zero

43.
(µ   =4/3)w

water+3mc/s

In given diagram apparent  velocity  of  bird
(coming toward fish) seen by fish is 19 cm/s.
Find the actual velocity of bird :-
(1) 16 cm/s (2) 14 cm/s
(3) 12 cm/s (4) 21 cm/s

44. Two surfaces S1 & S2 are shown in figure. Flux
associated with S1 is 1 & S2 is 2. Which is
correct ?

S1 S2

+q

(1) 1> 2 (2) 1< 2
(3) 1= 2 (4) can’t say anything

45. Figure shows a conducting loop placed in
magnetic field. The flux through the loop
changes due to change in magnetic field
according to the equation  = 5t – 10t2. What
is direction and magnitude of induced current
at t = 0.25 s ?

×      ×      ×      ×    

A B
10

×      ×      ×      ×    
×      ×      ×      ×    

×      ×      ×      ×    

(1) 0.5A, A  B
(2) 0.5A, B  A
(3) 1.5A, A  B
(4) Zero
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46. Among the following which one is a wrong
statement?

(1) SeF4 and CH4 have same shape

(2) I3
+ has bent geometry

(3) PH5 and BiI5 do  not  exist

(4) p -d  bonds are present  in SO2

47. Which one of the following species has
triangular planar shape ?

(1) –
3N

(2) –
3NO

(3) –
2NO

(4) CO2

48. A weak acid HA has a Ka of  1.00 × 10–5. If
0.100 mol of this acid is dissolved in one litre
of water the percentage of acid dissociated
at  equilibrium is  closest  to  :

(1) 0.100%

(2) 99.0%

(3) 1.00%

(4) 99.9%

49. The van't Hoff factor 'i' for a compound which
undergoes dissociation in one solvent and
association in other solvent is respectively :

(1) Less than one and greater than one

(2) Less than one and less than one

(3) Greater than one and less than one

(4) Greater than one and greater than one

46.  ?

(1) SeF4  CH4 

(2) 3I
 

(3) PH5  BiI5 

(4) SO2  p -d  

47. ;
 ?

(1) –
3N

(2) –
3NO

(3) –
2NO

(4) CO2

48. ] HA  Ka  1.00 × 10–5  ;
 0.100 , 1  ? ; ] ;

 %

(1) 0.100%

(2) 99.0%

(3) 1.00%

(4) 99.9%

49.  ; ,  ,
] 

'i' %  :

(1)  ,

(2)  ,

(3)  ,

(4)  ,
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50. Consider the reaction :

(i) (CH3)2CH–CH2Br 2 5C H OH

(CH3)2CH–CH2OC2H5 + HBr

(ii) (CH3)2CH–CH2–Br –
2 5C H O

(CH3)2CH–CH2OC2H5 + Br–

The mechanisms of reaction (i) and (ii) are
respectively :-

(1) 2N
S  and 1N

S

(2) 1N
S  and 2N

S

(3) 1N
S  and 1N

S

(4) 2N
S  and 2N

S

51. Boric acid is an acid because its molecule
(1) accepts OH– from water
(2) combines with proton from water molecule
(3) contains replaceable H+ ion
(4) gives  up a proton

52. Match List-I with List-II for the composition
of substances and select the correct answer
using the code given below the lists  :-

     List-I      List-II
Substances Composition

(A) Plaster of Paris (i) CaSO4.2H2O

(B) Epsomite (ii) CaSO4.
1
2 H2O

(C) Kieserite (iii) MgSO4.7H2O
(D)Gypsum (iv) MgSO4.H2O

(v) CaSO4

Code :
(A) (B) (C)(D)

(1) (iv) (iii) (ii) (i)
(2) (iii) (iv) (i) (ii)
(3) (ii) (iii) (iv)(i)
(4) (i) (ii) (iii) (v)

50. , :

(i) (CH3)2CH–CH2Br 2 5C H OH

(CH3)2CH–CH2OC2H5 + HBr

(ii) (CH3)2CH–CH2–Br –
2 5C H O

(CH3)2CH–CH2OC2H5 + Br–

 (i)  (ii) %  :-

(1) 2N
S   1N

S

(2) 1N
S   2N

S

(3) 1N
S   1N

S

(4) 2N
S   2N

S

51.  , ] 

(1)  OH– 
(2)
(3) ; H+ 
(4)

52. ± , -I -II ,

, :-
-I -II

(A) (i) CaSO4.2H2O

(B) (ii) CaSO4. 1
2 H2O

(C) (iii) MgSO4.7H2O
(D) (iv) MgSO4.H2O

(v) CaSO4

 %
(A) (B) (C) (D)

(1) (iv) (iii) (ii) (i)
(2) (iii) (iv) (i) (ii)
(3) (ii) (iii) (iv) (i)
(4) (i) (ii) (iii) (v)
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53. The reaction of hydrogen and iodine
monochloride is given as :
H2(g) + 2ICl(g)  2HCl(g) +  I2(g)

This reaction is of first order with respect
to H2(g) and ICl(g), following mechanisms were
proposed
Mechanism A :
H2(g) + 2ICl(g)  2HCl(g) +  I2(g)
Mechanism B :
H2(g) + ICl(g)  HCl(g) + HI(g) ;  Slow
HI(g) + ICl(g)  HCl(g) +  I2(g) ;  Fast
Which of the above mechanism(s) can be
consistent with the given information about
the reaction:
(1) A only
(2) B only
(3)  A  and  B  both
(4)  Neither  A  nor  B

54. A gaseous mixture was prepared by taking
equal mole of CO and N2. If the total pressure
of the mixture was found 1 atmosphere, the
partial pressure of the nitrogen (N2) in the
mixture is :
(1) 0.5 atm
(2) 0.8 atm
(3) 0.9 atm
(4) 1 atm

55. In a set of reactions m-bromobenzoic acid
gave a product D. Identify the product D

COOH

Br
A

SOCl2 B NH3 NaOHC DBr2

(1) 
SO NH2 2

Br

(2) 
COOH

NH2

(3) 
NH2

Br

(4) 
CONH2

Br

53.

H2(g) + 2ICl(g)  2HCl(g) +  I2(g)

 H2(g)  ICl(g) 

%

 A  :
H2(g) + 2ICl(g)  2HCl(g) +  I2(g)

 B  :
H2(g) + ICl(g)  HCl(g) + HI(g) ; 
HI(g) + ICl(g)  HCl(g) +  I2(g) ; 

(; ) 

(1) = A
(2) = B
(3) A  B 
(4)  A  B

54. CO  N2  , ; 
 ;  ,

 (N2)
 :

(1) 0.5 atm
(2) 0.8 atm
(3) 0.9 atm
(4) 1 atm

55.  ,  m-  D
 D 

COOH

Br
A

SOCl2 B NH3 NaOHC DBr2

(1) 
SO NH2 2

Br

(2) 
COOH

NH2

(3) 
NH2

Br

(4) 
CONH2

Br
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56. The suspension of slaked lime in water is
known as

(1) milk of lime

(2) aqueous solution of slaked lime

(3) limewater

(4) quicklime

57. Which of the following complex compounds will
exhibit highest paramagnetic behaviour :-

(1) [Zn(NH3)6]2+

(2) [Ti(NH3)6]3+

(3) [Cr(NH3)6]3+

(4) [Co(NH3)6]3+

(At. No. Ti = 22, Cr = 24, Co = 27, Zn = 30)

58. The equilibrium constant of the reaction:-

Cu(s) + 2Ag+(aq)  Cu2+(aq) + 2Ag(s) ;

E° = 0.46V at 298 K is approximately :-

(1) 4.0 × 1015

(2) 2.4 × 1010

(3) 2.0 × 1010

(4) 4.0 × 1010

59. By what factor does the average velocity of a
gaseous molecule increase when the
temperature (in Kelvin) is doubled ?

(1) 2.0

(2) 2.8

(3) 4.0

(4) 1.4

56.

(1)

(2) ; 

(3)

(4)

57. ; 
 :-

(1) [Zn(NH 3)6]2+

(2) [Ti(NH3)6]3+

(3) [Cr(NH3)6]3+

(4) [Co(NH3)6]3+

(At. No. Ti = 22, Cr = 24, Co = 27, Zn = 30)

58. ]

Cu(s) + 2Ag+(aq)  Cu2+(aq) + 2Ag(s) ;

E° = 0.46V  298 K ;  %&

(1) 4.0 × 1015

(2) 2.4 × 1010

(3) 2.0 × 1010

(4) 4.0 × 1010

59.  ( ) ; 

 ?

(1) 2.0

(2) 2.8

(3) 4.0

(4) 1.4
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60. How many stereoisomers does this molecule
have

CH3CH=CHCH2CH(Br)CH3

(1) 8

(2) 2

(3) 4

(4) 6

61. Which of the following has longest C–O bond
length? (Free C–O bond length in CO is
1.128Å).

(1) [Ni(CO)4]

(2) [Co(CO)4]

(3) [Fe(CO)4]2–

(4) [Mn(CO)6]+

62. Name the type of the structure of silicate in
which one oxygen atom of [SiO4]4– is shared?

(1) Linear chain silicate

(2) Sheet silicate

(3) Pyrosilicate

(4) Three dimensional silicate

63. 0.5 molal aqueous solution of a weak acid (HX)
is 20% ionised. If Kf for water is 1.86 K kg mol–1,
the depression in freezing point of the solution
is :-

(1) –0.56 K

(2) –1.12 K

(3) 0.56 K

(4) 1.12 K

60.  CH3CH=CHCH2CH(Br)CH3 

(1) 8

(2) 2

(3) 4

(4) 6

61.  C–O 
(  C–O  CO  1.128Å ).

(1) [Ni(CO)4]

(2) [Co(CO)4]

(3) [Fe(CO)4]2–

(4) [Mn(CO)6]+

62.
[SiO4]4–  ,

(1) ; 

(2) 

(3) 

(4) ; 

63. 0.5 ;  ,  (HX) 20%
 ;  K f 

1.86 K kg mol–1 

 %

(1) –0.56 K

(2) –1.12 K

(3) 0.56 K

(4) 1.12 K
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64. Which one of the following esters gets hydrolysed
most easily under alkaline conditions?

(1) 
OCOCH3

(2) 
OCOCH3

Cl

(3) 
OCOCH3

O N2

(4) 
OCOCH3

H CO3

65. Which one of the following is most reactive
towards electrophilic attack ?

(1) 

OH

(2) 

Cl

(3) 

CH OH2

(4) 

NO2

64.  ,  { ;  

(1) 
OCOCH3

(2) 
OCOCH3

Cl

(3) 
OCOCH3

O N2

(4) 
OCOCH3

H CO3

65.

(1) 

OH

(2) 

Cl

(3) 

CH OH2

(4) 

NO2
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66. Which one of the following orders is correct for
the bond dissociation enthalpy of halogen
molecules?

(1) I2 > Br2 > Cl2 > F2

(2) Cl2 > Br2 > F2 > I2

(3) Br2 > I2 > F2 > Cl2

(4) F2 > Cl2 > Br2 > I2

67. How many bridging oxygen atoms are
present  in P4O10 :-

(1) 4

(2) 2

(3) 5

(4) 6

68. Number  of  moles  of  MnO4
– required to

oxidize one mole of ferrous oxalate
completely in acidic medium will be:-
(1) 7.5 moles
(2) 0.2 moles
(3) 0.6 moles
(4) 0.4 moles

69. Consider the following compounds

CH – C – CH –3 

CH3

CH3

Ph – C – Ph

Ph

– CH3

(I) (II) (III)

Hyperconjugation occurs In :-

(1) II only (2) III only

(3) I and III (4) I only

66.
  ?

(1) I2 > Br2 > Cl2 > F2

(2) Cl2 > Br2 > F2 > I2

(3) Br2 > I2 > F2 > Cl2

(4) F2 > Cl2 > Br2 > I2

67. P4O10 :-

(1) 4

(2) 2

(3) 5

(4) 6

68.  , ; /;
] MnO4

– 

(1) 7.5 
(2) 0.2 
(3) 0.6 
(4) 0.4 

69.  ;

 :

CH – C – CH –3 

CH3

CH3

Ph – C – Ph

Ph

– CH3

(I) (II) (III)

(1)  II (2)  III 

(3) I  III (4)  I 
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70. The stability of carbanions in the following:-

(a) R–C C (b) 
..

(c) R C=CH2 (d) R C–CH3 2

is in the order of:-

(1) (d) > (b) > (c) > (a) (2) (a) > (c) > (b) > (d)

(3) (a) > (b) > (c) > (d) (4) (b) > (c) > (d) > (a)

71. The electronic configurations of Eu(Atomic No 63),
Gd(Atomic No 64) and Tb (Atomic No. 65) are :-

(1) [Xe]4f76s2, [Xe]4f8 6s2 and [Xe]4f85d16s2

(2) [Xe]4f75d16s2,  [Xe]4f7 5d1 6s2 and
[Xe]4f96s2

(3) [Xe]4f65d16s2, [Xe]4f75d16s2 and
[Xe]4f85d16s2

(4) [Xe]4f76s2, [Xe]4f75d16s2 and [Xe]4f96s2

72. "Metals are usually not found as nitrates in
their ores".

Out of the following two (a and b) reasons
which is/are true for the above observation?

(a) Metal nitrates are highly unstable.

(b) Metal nitrates are highly soluble in water.

(1) a and b are false

(2) a is false but b is true

(3) a is true but b is false

(4) a and b are true

70. ]

(a) R–C C (b) 
..

(c) R C=CH2 (d) R C–CH3 2

 %&

(1) (d) > (b) > (c) > (a) (2) (a) > (c) > (b) > (d)

(3) (a) > (b) > (c) > (d) (4) (b) > (c) > (d) > (a)

71. Eu(  63), Gd(  64)  Tb  (  65) 

(1) [Xe]4f76s2, [Xe]4f8 6s2  [Xe]4f85d16s2

(2) [Xe]4f65d16s2, [Xe]4f7 5d1 6s2  [Xe]4f96s2

(3) [Xe]4f65d16s2,  [Xe]4f75d16s2 
[Xe]4f85d16s2

(4) [Xe]4f76s2, [Xe]4f75d16s2  [Xe]4f96s2

72. " %  :
 "

 (a  b)
 ?

(a)

(b) ; 

(1) a  b 

(2) a  b 

(3) a  b 

(4) a  b 
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73. 10g of hydrogen and 64 g of oxygen were filled
in a steel vessel and exploded. Amount of water
produced in this reaction will be :-

(1) 1 mol (2) 2 mol

(3) 3 mol (4) 4 mol

74. In the following reaction, the product (A)

N NCl–+

 +   

NH2

H+

 
Yellow dye

(Major)

(A)  is :-

(1) N=N–NH

(2)  N=N
NH2

(3) N=N
NH2

(4) N=N NH2

75. The order of decreasing reactivity towards
an electrophilic reagent, for the following :

(a) Benzene (b) Toluene

(c) Chlorobenzene (d) Phenol

Would  be  :

(1)  d  >  b  >  a  >  c (2)  a  >  b  >  c  >  d

(3)  b  >  d  >  a  >  c (4)  d  >  c  >  b  >  a

73. 10g  64 g  , = 

 %&

(1) 1 (2) 2 

(3) 3 (4) 4 

74.  (A)  %

N NCl–+

 +   

NH2

H+

 
( )[;

(A)   :-

(1) N=N–NH

(2)  N=N
NH2

(3) N=N
NH2

(4) N=N NH2

75.  ;

 ?  %&

(a) (b) 

(c) (d) 

(1)  d  >  b  >  a  >  c (2)  a  >  b  >  c  >  d

(3)  b  >  d  >  a  >  c (4)  d  >  c  >  b  >  a
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76. Among the following complexes the one which
shows Zero crystal field stabilization energy
(CFSE) is :-

(1) [Mn(H2O)6]3+

(2) [Fe(H2O)6]3+

(3) [Co(H2O)6]2+

(4) [Co(H2O)6]3+

77. For the reaction :

CH4(g) + 2O2(g)  CO2(g)  +  2H2O(l)

       Hr = –170.8 kJ mol–1

Which of the following statements is not
true:-

(1) At equilibrium, the concentrations of
CO2(g) and H2O(l) are not equal

(2) The equilibrium constant for the reaction

is given by KP = 2

4 2

[CO ]
[CH ][O ]

(3) Addition of CH4(g) or O2(g) at equilibrium
will  cause a  shift  to  the right.

(4) The reaction is exothermic

78. Oxidation numbers of P in 3–
4PO , S in 2–

4SO
and that  of  Cr in 2–

2 7Cr O  are respectively:-

(1) –3, +6 and +6

(2) +5, +6 and +6

(3) +3, +6 and +5

(4) +5, +3 and +6

76.  , ;  { = 

(CFSE)  :-

(1) [Mn(H2O)6]3+

(2) [Fe(H2O)6]3+

(3) [Co(H2O)6]2+

(4) [Co(H2O)6]3+

77.  :

CH4(g) + 2O2(g)  CO2(g)  +  2H2O(l)

       Hr = –170.8 kJ mol–1

, ;  :-

(1)  CO2(g)  H2O(l) 

(2) , ; 

 KP = 2

4 2

[CO ]
[CH ][O ]

(3) ;  CH4(g)  O2(g) 

(4) 

78. 3–
4PO   P ] 2–

4SO   S  2–
2 7Cr O   Cr 

%  %&

(1) –3, +6  +6

(2) +5, +6  +6

(3) +3, +6  +5

(4) +5, +3  +6
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79. Reaction by which, Benzaldehyde cannot be
prepared :-

(1)
COOH

 +Zn/Hg and conc. HCl

(2) 
CH3

 + CrO2Cl2 in CS2 followed by H3O

(3)
COCl

 + H2 in presence of Pd+BaSO4

(4)  + CO + HCl in presence of anhydrous AlCl3

80. Predict the product C obtained in the
following reaction of 1-Butyne :

CH3–CH2–C CH + HCl  B HCl C

(1) CH CH –C–CH3 2 3

Cl

Cl

(2) CH –CH–CH CH Cl3 2 2

Cl

(3) CH –CH –CH –C–H3 2 2

Cl

Cl

(4) CH –CH –CH–CH Cl3 2 2

Cl

79.  :-

(1)
COOH

 +Zn/Hg  HCl

(2) 
CH3

+ CrO2Cl2    CS2     H3O

(3)
COCl

 + H2, Pd +BaSO4 

(4)  + CO + HCl  AlCl3 

80. 1-   C 
, %&

CH3–CH2–C CH + HCl  B HCl C

(1) CH CH –C–CH3 2 3

Cl

Cl

(2) CH –CH–CH CH Cl3 2 2

Cl

(3) CH –CH –CH –C–H3 2 2

Cl

Cl

(4) CH –CH –CH–CH Cl3 2 2

Cl
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81. Acidity of diprotic acids in aqueous solutions
increases in the order :-

(1) H2S < H2Se < H2Te

(2) H2Se < H2S < H2Te

(3) H2Te < H2S < H2Se

(4) H2Se < H2Te < H2S

82. Assume each reaction is carried out in an
open container. For which reaction will

H = E  ?

(1) H2(g)  +  Br2(g)  2HBr(g)

(2) C(s) + 2H2O(g)  2H2(g)  +  CO2(g)

(3) PCl5(g)  PCl3(g)  +  Cl2(g)

(4) 2CO(g) + O2(g)  2CO2(g)

83. Lithium metal crystallises in a body centred
cubic crystal. If the length of the side of the
unit cell of lithium is 351 pm, the atomic
radius of the lithium will be :-

(1) 300.5 pm

(2) 240.8 pm

(3) 151.98 pm

(4) 75.5 pm

81. ; <+
 :-

(1) H2S < H2Se < H2Te

(2) H2Se < H2S < H2Te

(3) H2Te < H2S < H2Se

(4) H2Se < H2Te < H2S

82. ,  [ = 
, H = E  ?

(1) H2(g)  +  Br2(g)  2HBr(g)

(2) C(s) + 2H2O(g)  2H2(g)  +  CO2(g)

(3) PCl5(g)  PCl3(g)  +  Cl2(g)

(4) 2CO(g) + O2(g)  2CO2(g)

83.  / ;  ?

351 pm  :-

(1) 300.5 pm

(2) 240.8 pm

(3) 151.98 pm

(4) 75.5 pm



Page 26/56 , Sample Paper - 1

84. Which one of the following sets of
monosaccharides forms sucrose?

(1) -D-Glucopyranose and

-D-fructofuranose

(2) -D-Glucopyranose and

-D-fructopyranose

(3) -D-Galactopyranose and

-D-Glucopyranose

(4) -D-Glucopyranose and

-D-fructofuranose

85. Which of the compounds with molecular
formula C5H10 yields acetone on ozonolysis:

(1) 2–Methyl–1–butene

(2) 2–Methyl–2–butene

(3) 3–Methyl–1–butene

(4) Cyclopentane

86. Which of the following molecules has the
maximum dipole moment ?

(1) CO2

(2) CH4

(3) NH3

(4) NF3

87. Given : The mass of electron is 9.1× 10–31 Kg
Planck constant is 6.62 × 10–34 Js,  the
uncertainty involved in the measurement of
velocity within a distance of 0.1Å is :-

(1) 5.79 × 106 ms–1

(2) 5.79 × 107 ms–1

(3) 5.79 × 108 ms–1

(4) 5.79 × 105 ms–1

84.  ,

(1) -D-

-D-

(2) -D-

-D-

(3) -D-

-D-

(4) -D-

-D-

85. = C5H10  ;

 }  ,  %&

(1) 2– –1–

(2) 2– –2–

(3) 3– –1–

(4) 

86. }/

(1) CO2

(2) CH4

(3) NH3

(4) NF3

87.  :  9.1 × 10–31 Kg 
 6.62 × 10–34 Js  0.1Å 

 :-

(1) 5.79 × 106 ms–1

(2) 5.79 × 107 ms–1

(3) 5.79 × 108 ms–1

(4) 5.79 × 105 ms–1
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88. If x is amount of adsorbate and m is amount
of adsorbent, which of the following relations
is not related to adsorption process ?

(1) x/m = f(P) at constant T

(2) x/m = f(T) at constant P

(3) (x/m)  independent  of  pressure  at  high
pressure

(4) x = P  × Tm

89. Which of the following is not a fat soluble
vitamin ?

(1)  Vitamin A

(2) Vitamin B complex

(3)  Vitamin D

(4)  Vitamin E

90. In the reaction

     Heated .........

Which of the following compounds will be
formed  ?

(1) 

(2) 

(3) 

(4) 

88.  x ;  m ]

] 

 ?

(1) x/m = f(P)  T 

(2) x/m = f(T)  P 

(3)  (x/m) 

(4) x = P  × Tm

89.  ?  ?

(1)  A

(2)  B 

(3)  D

(4)  E

90.

............

 ;

(1) 

(2) 

(3) 

(4) 
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91. The process by which organisms with different
evolutionary history evolve similar phenotypic
adaptation in response to a common
environmental challenge, is called :

(1) Adaptive radiation

(2) Natural selection

(3) Convergent evolution

(4) Non-random evolution

92. How many plants in the list given below have
marginal placentation ?

Mustard, Gram, Tulip, Asparagus, Arhar,
Sun hemp, Chilli, Colchicine, Onion, Moong,
Pea, Tobacco, Lupin

(1) Six

(2) Three

(3) Four

(4) Five

93. Which of the following pair is an example of
nitrifying bacteria?

(1) Pseudomonas and BGA

(2) Nitrobacter and E.coli

(3) Nitrosomonas and Nitrococcus

(4) Pseudomonas and Klebsiella

94. Kyoto Protocol was endorsed at :

(1) CoP - 4

(2) CoP - 3

(3) CoP - 5

(4) CoP - 6

91. ]  }  ,

; 

]  :

(1) 

(2) 

(3) 

(4) 

92.  ?

] ] ] ] ] ] ] ]
] ] ] ] 

(1) %

(2) 

(3) 

(4) 

93.  ;

(1)   BGA

(2)   

(3)   

(4)   

94.  ( ) 

(1) CoP - 4

(2) CoP - 3

(3) CoP - 5

(4) CoP - 6
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95. What is the  correct sequence of DNA finger
printing?

a - seperation of desired DNA by gel
electrophoresis

b - Digestion by restriction endonuclease

c - Isolation of DNA

d - Hybridisation using labelled VNTR probe

e - Southern blotting

(1) a  b  c  d  e

(2) b  d  e  a  c

(3) c  b  a  d  e

(4) c  b  a  e  d

96. If there are 999 bases in an RNA that codes
for a protein with 333 amino acids, and the
base at position 901 is deleted such that the
length of the RNA becomes 998 bases, how
many codons will be altered ?
(1) 11
(2) 33
(3) 333
(4) 1

97. Which of the following is correct regarding
AIDS causative agent HIV ?
(1) HIV is unenveloped retrovirus.
(2) HIV does not escape but attacks the

aquired immune response.
(3) HIV is enveloped virus containing one

molecule of single-stranded RNA and one
molecule of reverse transcriptase.

(4) HIV is enveloped virus that contains two
identical molecules of single-stranded
RNA and two molecules of reverse
transcriptase.

95. DNA  ?

a-  DNA  }

b-  ,.  }

c- DNA 

d-  VNTR 

e- 

(1) a  b  c  d  e

(2) b  d  e  a  c

(3) c  b  a  d  e

(4) c  b  a  e  d

96.  ,  999  333 
, ]  901  {

 998

(1) 11

(2) 33

(3) 333

(4) 1

97. AIDS  HIV 
 ?

(1) HIV 

(2) HIV 

(3) HIV ]  ,

RNA  ,  ,

(4) HIV ]  ,

RNA 
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98. Which of the following approaches does not
give the defined action of contraceptive ?

     

(1) Barrier
methods

prevent fertilization

(2) Intra uterine
devices

Increase phagocytosis of
sperms, suppress sperm
motility and fertilizing
capacity of sperms

(3) Hormonal
contraceptives

Prevent/retard entry of
sperms, prevent ovulation
and fertilization

(4) Vasectomy Prevents spermatogenesis

99. The hepatic portal vein drains blood to liver
from :-

(1) Stomach

(2) Kidneys

(3) Intestine

(4) Heart

100. The function of the gap junction is to :

(1) Stop substance from leaking across a
tissue

(2) Performing cementing to keep
neighbouring cells together

(3) Facilitate communication between
adjoining cells by connecting the
cytoplasm for rapid transfer of ions, small
molecules and some large molecules

(4) Separate two cells from each other.

98.
 ?

     

(1)  ( )

(2) % <+
]  ,
 {

(3)
 /

] 

(4)

99.  }  ;  :  :-

(1) ; 

(2) 

(3) = 

(4) ; 

100.  &  :

(1)

(2)

(3) ,]

; , ] 

(4)  ,
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101. Forelimbs of cat and lizard used in walking;
forelimbs of whale used in swimming and
forelimbs of bats used in flying are an
example of  :-
(1) Analogous organs
(2) Adaptive radiation
(3) Homologous organs
(4)Convergent evolution

102.

Which of the following floral formula is
correct for given floral diagram ?

(1) % +  K(5) C1 + 2 + (2) A(9) + 1 1G

(2) +  K(5) C1 + 2 + (2) A(9) + 1 1G

(3) + K5 C1  +  2  +  2 A10 1G

(4) + K5 C1  +  2  +  2 A9  +  1 1G

103. Anoxygenic photosynthesis is characteristic
of  :
(1) Rhodospirillum
(2) Spirogyra
(3) Chlamydomonas
(4) Ulva

104. During sewage treatment, biogases are
produced which include :

(1) hydrogensulphide, nitrogen, methane

(2) methane, hydrogensulphide, carbon dioxide

(3) methane, oxygen, hydrogensulphide

(4) hydrogensulphide, methane, sulphur dioxide

101. ; 
 +  , ] ;

(1) 

(2) 

(3) 

(4) 

102.

= , = 

(1) % +  K(5) C1 + 2 + (2) A(9) + 1 1G

(2) +  K(5) C1 + 2 + (2) A(9) + 1 1G

(3) + K5 C1  +  2  +  2 A10 1G

(4) + K5 C1  +  2  +  2 A9  +  1 1G

103.

(1) 

(2) 

(3) 

(4) 

104. ]
 :

(1) ] ] 

(2) ] ] 

(3) ] ] 

(4) ] ] 
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105. Gene silencing using RNAi technique is
applied to  make :-
(1) Nematode resistant plant
(2) Edible vaccines
(3) Iron fortified rice
(4) Vitamin enriched cereales

106. Which of  the following is  wrongly matched
in the given table ?

Microbe Product Application

(1) Trichoderma
polysporum

Cyclosporin A immuno-
suppressive
drug

(2) Monascus
purpureus

Statins lowering of
blood
cholesterol

(3) Streptococcus Streptokinase removal of
clot from
blood vessel

(4) Clostridium
butylicum

Lipase removal of
oil stains

107. In higher vertebrates, the immune system
can distinguish self-cells and non-self. If this
property is lost due to genetic abnormality
and it attacks self-cells, then it leads to :-
(1) Allergic response
(2) Graft rejection
(3) Auto-immune disease
(4) Active immunity

108. Outcrossing is an important strategy of
animal husbandry because it :
(1) exposes harmful recessive genes that are

eliminated by selection
(2) helps in accumulation of superior genes.
(3) is useful in producing purelines of

animals.
(4) is useful in overcoming inbreeding

depression

105. RNAi , 

(1)
(2) | 

(3)  ;

(4)  / ;

106.
, ?

  

(1)  A

(2)

(3)

(4)  /

107. ] = 

 ; = 

 ; , 

 ?
(1) 
(2) 
(3) 
(4) ; 

108. %  , ] 
 :

(1)

(2)  ,

(3)

(4)
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109. Which one is correct option for given diagram?

A

B

C

D

A B C D

(1) Labrum Maxilla Hypopharynx Mandible

(2) Hypopharynx Mandible Maxilla Labrum

(3) Labrum Hypopharynx Maxilla Mandible

(4) Maxilla Hypopharynx Mandible Labrum

110. A nitrogen fixing microbe associated with
Azolla in rice-fields is :-
(1) Frankia
(2) Tolypothrix
(3) Spirulina
(4) Anabaena

111. Artificial selection to obtain cows yielding
higher milk output represents :
(1) Directional as it pushes the mean of the

character in one direction
(2) Disruptive as it splits the population into

two, one yielding higher output and the
other lower output

(3) Stabilizing followed by disruptive as it
stabilizes the population to produce
higher yielding cows

(4) Stabilizing selection as it stabilizes this
character in the population

112. Which one of the following option is not
related to gymnosperm?
(1) Sieve tube, vessel, companion cells
(2) Sieve cells, tracheid, albuminous cells
(3) Sieve tube, tracheid, albuminous cells
(4) Sieve cells, vessel, companion cells

109. , , = , 

A

B

C

D
A B C D

(1)

(2)

(3)

(4)

110.  [   ,

(1) 
(2) 
(3) 
(4) 

111. , 

(1)  ; /;  ,

(2)  ; [; ]

 , ; 

(3)  ; [;

(4)  ; [;

112.  ,

(1) ] ] 

(2) ] ] ,

(3) ] ] ,

(4) ] ] 
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113. With reference to factors affecting the rate of
photosynthesis, which of the following
statements is not correct ?
(1) Increasing atmospheric CO2 concentration

up to 0.05% can enhance CO2 fixation rate
(2) C3 plants respond to higher temperatures

with enhanced photosynthesis while C4
plants have much lower temperature
optimum

(3) Tomato is a greenhouse crop which can be
grown in CO2 enriched atmosphere for
higher yield

(4) Light saturation for CO2 fixation occurs
at 10% of full sunlight

114. Given below is a simplified model of
phosphorus cycling in a terrestrial
ecosystem with four blanks (A-D). Identify
the blanks  :-

Consumers 

A

Soil solution 

B

Run off

Uptake

D

C

Options :

  

A B C D

(1) Rock
minerals Detritus Litter fall Producers

(2) Litter fall Producers Rock
minerals Detritus

(3) Detritus Rock
minerals Producer Litter fall

(4) Producers Litter fall Rock
minerals Detritus

113. ;

(1) ; CO2  0.05% <+  ;

CO2 <+

(2) C3 
 C4 , 

(3)  , ] ,

CO2 

(4) CO2 , 

10% 

114. ; = 
 [  (A-D) 

, :-

miHkksDrk

A

B

okg ¼ju vkWQ½

varxzZg.k

D

C

 :

 

A B C D

(1) )

(2)  [

(3)

(4)  [
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115. Match the column-I with column-II

Column-I Column-II

a Micropropagation i To obtain virus
free plants

b Meristem culture ii
Production of
large number of
plants

c Biofortification iii
Improvement of
nutritional
quality in crops

d Somatic
hybridization iv Protoplast fusion

Options :-

(1) a-ii, b-i, c-iii, d-iv

(2) a-i, b-ii, c-iii, d-iv

(3) a-iii, b-i, c-ii, d-iv

(4) a-iv, b-iii, c-ii, d-i

116. Which one of the following is an example of
carrying out biological control of pests/
diseases using microbes?

(1) Bt-Cotton to increase cotton yield

(2) Lady  bird  beetle  against  aphids  in
mustard

(3) Trichoderma species against certain
plant pathogens.

(4) Nucleopolyhedrovirus against white rust
in Brassica

115. -I -II ,

-I -II

a i

b ii
[;

c iii

d iv

 %&

(1) a-ii, b-i, c-iii, d-iv

(2) a-i, b-ii, c-iii, d-iv

(3) a-iii, b-i, c-ii, d-iv

(4) a-iv, b-iii, c-ii, d-i

116. , ;
=. ]  ,  ?

(1) <+ , Bt-

(2)  ,

(3)  [ ,   

(4)   
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117. Myelin sheath is produced by :

(1) Astrocytes and Schwann cells

(2) Oligodendrocytes and Osteoclasts

(3) Osteoclasts and Astrocytes

(4) Schwann cells and Oligodendrocytes

118. Which hormones stimulates the production
of pancreatic enzymes and bicarbonate ions
respectively ?

(1) Cholecystokinin and secretin

(2) Insulin and glucagon

(3) Angiotensin and epinephrine

(4) Gastrin and insulin

119. Which class shows correct match ?

(1) Mammalia - Protopterus, Canis, Exocoetus

(2) Aves - Corvus, Psittacula, Macropus

(3) Reptilia - Crocodilus, Bangarus, Chelone

(4) Mammalia - Salpa, Scoliodon, Catla

120. The cyanobacteria are also referred to as :-

(1) Slime moulds

(2) Blue green algae

(3) Protists

(4) Golden algae

117. ek;fyu vkPNn fdlds }kjk mRiUu gksrk gS\

(1) rkjk dksf'kdk ,oa 'oku dksf'kdk,¡

(2) vkWfyxksMsaMªkslkbV~l ,oa vfLFk'kks"kd

(3) vfLFk'kks"kd ,oa rkjk dksf'kdk,¡

(4) 'oku dksf'kdk,¡ ,oa vkWfyxksMsaMªkslkbV~l

118. dkSu ls gkWeksZu vXuk'k;h jl vkSj ckbdkcksZusV vk;uksa ds mRiknu
dks míhfir djrs gSa\

(1) Øe'k% dksfyflLVksdkbfuu vkSj lsØsfVu

(2) Øe'k% balqfyu vkSj XywdkxkWu

(3) Øe'k% ,s aft;ksVsaflu vkSj ,fiusfÝu

(4) Øe'k% xSfLVªu vkSj balqfyu

119. dkSulk oxZ (class) lgh feyku n'kkZ jgk gS\

(1) esesfy;k - Protopterus, Canis, Exocoetus

(2) ,oht - Corvus, Psittacula, Macropus

(3) jsIVhfy;k - Crocodilus, Bangarus, Chelone

(4) esesfy;k - Salpa, Scoliodon, Catla

120. lk;ukscSDVhfj;k fdl ,d vU; uke ls Hkh tkus tkrs gSa \

(1) voiad dod

(2) uhy gfjr 'kSoky

(3) izksfVLV~l

(4) lqugjs 'kSoky
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121. Identify the components labelled A, B,C  and
D in the diagram below from the list (i) to
(viii) given with

Components :

(i) Cristae of mitochondria

(ii) Inner membrane of mitochondria

(iii) Cytoplasm

(iv) Smooth endoplasmic reticulum

(v) Rough endoplasmic reticulum

(vi) Mitochondrial matrix

(vii) Cell vacuole

(viii) Nucleus

The correct component are :

A B C D

(1) (i) (iv) (viii) (vi)

(2) (vi) (v) (iv) (vii)

(3) (v) (i) (iii) (ii)

(4) (v) (iv) (viii) (iii)

121.  ?  A, B,C  D 
 (i)  (viii) ]

 :

(i)

(ii)

(iii) ;

(iv)  ,

(v) :{  ,

(vi) 

(vii) 

(viii) 

 %

A B C D

(1) (i) (iv) (viii) (vi)

(2) (vi) (v) (iv) (vii)

(3) (v) (i) (iii) (ii)

(4) (v) (iv) (viii) (iii)
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122. Gymnosperms are also called soft wood
spermatophytes because they lack :-

(1) Thick-walled tracheids

(2) Xylem fibres

(3) Cambium

(4) Phloem fibres

123. Transition state structure of the substrate
formed during an enzymatic  reaction is  :

(1) permanent and stable

(2) transient but stable

(3) permanent but unstable

(4) transient and unstable

124. Given below is the representation of the
extent of global diversity of invertebrates.
What groups the four portions (A-D)
represent respectively :-

DC
B

A

Options :

A B C D

(1) Insects Crustaceans
Other
animal
groups

Molluscs

(2) Crustaceans Insects Molluscs
Other
animal
groups

(3) Molluscs
Other
animal
groups

Crustaceans Insects

(4) Insects Molluscs Crustaceans
Other
animal
groups

122. # 
 ;  %&

(1) ; 

(2) # 

(3) ,/

(4) 

123.  ,
 :

(1) 

(2) 

(3) 

(4) 

124.
 (A-D) 

 :-

D
C

B

A

A B C D

(1)
; 

(2)
;

(3)
; 

(4)
;
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125. Which one of the following structural formulae
of two organic compounds is correctly identified
along with its related function ?

O
CH –O–C–R2

R –C–O–CH2

CH –O–P–O–CH –CH2 2 2

O

O

OH N
CH3 CH3CH3

A

N

N

N

NH

B

NH2

(1) B : adenine - a nucleotide that makes up
nucleic acids

(2) A : Triglyceride - major source of energy

(3) B : Uracil - a component of DNA

(4) A : Lecithin - a component of cell
membrane

126. For transformation, micro-particles coated
with DNA to  be bombarded with gene gun
are made up of :-
(1) Silicon or Platinum
(2)  Gold or  Tungsten
(3) Silver or platinum
(4) Platinum or zinc

127. Which of the following structures or regions
is incorrectly paired with its function ?
(1) Medulla oblongata : controls respiration

and cardiovascular
reflexes.

(2) Limbic system : consists of fibre tracts
that interconnect
different regions of
brain; controls
movement.

(3) Hypothalamus : production of releasing
hormones and regulation
of temperature, hunger
and thirst.

(4) Corpus callosum : band of fibers connecting
left and right cerebral
hemispheres.

125.  ;
 ,

 ?

O
CH –O–C–R2

R –C–O–CH2

CH –O–P–O–CH –CH2 2 2

O

O

OH N
CH3 CH3CH3

A

N

N

N

NH

B

NH2

(1) B :  & ,

(2) A : 

(3) B : - DNA  ,  ?

(4) A :  -  ,  ?

126. ] DNA ] 
] 

(1) 

(2) 

(3) 

(4)  ( )

127.  { = 
 :  ;

(1) :  , ; 

± 

(2) = :  { = 

 {

_ =.

(3) :  ,

] 

=.

(4) :  ,

± 
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128. Which of the following options best represents
the enzyme composition of pancreatic juice ?
(1) amylase, pepsin, trypsinogen, maltase
(2) peptidase, amylase, pepsin, rennin
(3) lipase, amylase, trypsinogen, procarboxypeptidase
(4) amylase, peptidase, trypsinogen, rennin

129. Find out the correct match
(1) Chelone, Chameleon, Calotes - epidermal

scales
(2) Ornithorhynchus, Panthera leo, Macropus

- Oviparous
(3) Exocoetus, Pavo, Psittacula, Columba -

Forelimbs are modified into wings
(4) Scoliodon, Pristis, Pterophyllum - Placoid

scales
130. Examine the figure given below and select

the right option giving all the four parts (a, b,
c & d) correctly identified.

(c)
(b)

(d)

(a)

(a) (b) (c) (d)
(1) Antherid Male Globule Roots

iophore thallus
(2) Archego- Female Gemma- Rhizoids

niophore thallus cup
(3) Archego- Female Bud Foot

niophore thallus
(4) Seta  Sporo- Proto- Rhizoids

phyte nema

128.
 :

(1) ] ] ] 

(2) ] , ] ] 

(3) ] , ] ] 

(4) ] ] ] 

129.

(1) ] ]  & ,

(2) ] ]  & 

(3) ] ] ]  &  :

(4) ] ]  & 

130. , , = , ,

 (a, b, c  d) ,  %

(c)
(b)

(d)

(a)

(a) (b) (c) (d)

(1)

(2)

(3)

(4)  (
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131. Which one of the following cellular parts is
correctly described ?
(1) Ribosomes - those in chloroplasts are

larger (80s) while those in the cytoplasm
are smaller (70s)

(2) Lysosomes-optimally active at a pH of
about 8.5

(3) Thylakoids-flattened membranous sacs
forming the grana of chloroplasts

(4) Centrioles - sites for active RNA
synthesis

132. An organic substance that can withstand
environmental extremes and cannot be
degraded by any enzyme is  :-
(1) Lignin
(2) Cellulose
(3) Cuticle
(4) Sporopollenin

133. Which statement is wrong for Krebs' cycle ?
(1) There is one point in the cycle where

FAD+ is reduced to FADH2

(2) During conversion of succinyl CoA to
succinic acid, a molecule of GTP is
synthesised

(3) The cycle starts with condensation of
acetyl group (acetyl CoA) with pyruvic
acid to yield citric acid

(4) There are three points in the cycle where
NAD+ is  reduced  to  NADH+ H+

134. Rachel Carson's famous book "Silent Spring"
is  related to  :-

(1) Noise pollution

(2) Population explosion

(3) Ecosystem management

(4) Pesticide pollution

131.  , ; 
 ?

(1)  (80s)
 (70s) 

(2)  pH  8.5 % ;

(3)

(4)  ( ) & ; RNA 

132.  ,  ( ) 
 ,  }

(1) 
(2) 
(3) 
(4) 

133. ;  

(1)  ,  FAD+  FADH2

(2)  CoA 
GTP  ,

(3)  ,  (  CoA) 

(4)  NAD+  NADH+ H+

134. }  " " )

(1) 

(2) [;

(3) = 

(4) 
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135. Which one is the most abundant protein in the
animal world ?

(1) Collagen

(2) Insulin

(3) Trypsin

(4) Haemoglobin

136. Stirred-tank bioreactors have been
designed  for  :

(1) availability of oxygen throughout the
process

(2) ensuring anaerobic conditions in the
culture vessel

(3) purification of product

(4) addition of preservatives to the product

137. Which of the following pairs of hormones are
not antagonistic (having opposite effects) to
each other?

(1) Parathormone– Calcitonin

(2) Insulin – Glucagon

(3) Aldosterone – Atrial Natriuretic Factor

(4) Relaxin – Inhibin

138. Lungs  are  made  up  of  air-filled  sacs,  the
alveoli. They do not collapse even after
forceful expiration, because of :-

(1) Inspiratory Reserve Volume

(2) Tidal Volume

(3) Expiratory Reserve Volume

(4) Residual Volume

135.
 ?

(1) 

(2) 

(3) 

(4) 

136. , 

(1) 
,

(2) ; ,

(3) ,

(4) ,

137.  ;    ;  ,
 ( )  ?

(1) 

(2) 

(3) & ,

(4) 

138. , ] 

 ; %

(1) % 

(2) ; 

(3) 

(4) 
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139. Select the correct matching pair and choose the
correct option?

(1) Snail in mouth Radula Rasping
organ

(2) Sea Urchin in mouth Aristotle's
lantern Secretory organ

(3) Ascaris On lips Phasmids 
Sensory organ

(4) Cockroach In buccal cavity 
Mandibles Chewing the food

140. Select the wrong statement :

(1) Chlamydomonas exhibits both isogamy
and anisogamy and Fucus shows oogamy

(2) Isogemetes are similar in structure,
function and behaviour

(3) Anisogametes differ either in structure,
function or behaviour

(4) In Oomycetes female gamete is smaller
and motile, while male gamete is larger
and non-motile

141. Match the following and select the correct answer :

(a) Centriole (i) Infoldings in mitochondria

(b) Chlorophyll (ii) Thylakoids

(c) Cristae (iii) Nucleic acids

(d) Ribozymes (iv) Basal body of cilia or flagella
(a) (b) (c)    (d)

(1) (iv) (ii) (i) (iii)

(2) (i) (ii) (iv) (iii)

(3) (i) (iii) (ii) (iv)

(4) (iv) (iii) (i) (ii)

139.  ; , 

 %&

(1)    

(2)    

(3)    

(4)    

140. , :

(1)

 

(2) ] 

(3) ]  ;

(4)  ;

 ;

141. ,   , :

(a) (i) 

(b) (ii) 

(c) (iii) 

(d) (iv)  ; ;

(a) (b) (c)    (d)

(1) (iv) (ii) (i) (iii)

(2) (i) (ii) (iv) (iii)

(3) (i) (iii) (ii) (iv)

(4) (iv) (iii) (i) (ii)
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142. Which of the following statements is not correct?

(1) Pollen grains of many species can
germinate on the stigma of a flower, but
only one pollen tube of the same species
grows into the style.

(2) Insects that consume pollen or nectar
without bringing about pollination are
called pollen/nectar robbers.

(3) Pollen germination and pollen tube
growth are regulated by chemical
components of pollen interacting with
those of the pistil.

(4) Some reptiles have also been reported as
pollinators in some plant species.

143. What causes a green plant exposed to the
light on only one side, to bend toward the
source of  light  as  it  grows ?

(1) Green plants seek light because they are
phototropic

(2) Light stimulates plant cells on the lighted
side to grow faster

(3) Auxin accumulates on the shaded side,
stimulating greater cell elongation there.

(4) Green plants need light to perform
photosynthesis

144. Which of the following is correct for r-
selected species ?

(1) Small number of progeny with small size

(2) Small number of progeny with large size

(3) Large number of progeny with small size

(4) Large number of progeny with large size

142. ;   ?

(1)  ,

<+

(2)  ;

(3) ] 
 ?

(4) ] , 

143.  ,
] 

(1)  [

(2) ] 
, 

(3)

(4) , 

144. r-

(1) [;

(2) [;

(3) [;

(4) [;
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145. If two persons with 'AB' blood group marry and
have sufficiently large number of children,
these children could be classified as 'A' blood
group : 'AB' blood group 'B' blood group in 1
:  2  :  1  ratio.  Modern  technique  of  protein
electrophoresis reveals presence of both 'A' and
'B' type proteins in 'AB' blood group
individuals. This is an example of :

(1) Complete dominance

(2) Codominance

(3) Incomplete dominance

(4) Partial dominance

146. In Bt cotton, the Bt toxin present in plant
tissue as pro-toxin is converted into active
toxin  due  to  :-

(1) Acidic pH of the insect gut

(2) Action of gut micro-organisms

(3) Presence of conversion factors in insect
gut

(4)  Alkaline pH of  the insect  gut

147. Which one of the following hormones is not
involved in sugar metabolism ?

(1) Glucagon

(2) Cortisol

(3) Aldosterone

(4) Insulin

145.  'AB' 
[; ]  ,

 'A'  : 'AB'  : 'B' 
 1 : 2 : 1  (

)  'A'
 'B'   'AB' 

 ;

(1) 

(2) 

(3) 

(4) 

146. Bt  :  Bt
 ] ,  :

(1) ; pH 

(2) 

(3)  :

(4)  { ; pH 

147.  , ; 

(1) 

(2) 

(3) 

(4) 
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148. Match the items given in Column I with those
in Column II and select the correct option :

   Column I    Column II

a. Tidal volume    i. 2500-3000 mL

b. Inspiratory Reserve ii. 1100-1200 mL

   volume

c. Expiratory Reserve  iii. 500-550 mL

   volume

d. Residual volume  iv. 1000-1100 mL

a b c d

(1) iii ii i iv

(2) iii i iv ii

(3) i iv ii iii

(4) iv iii ii i

149. Which of the following have internal
fertilization?

(1) Sea urchin
(2) Platypus
(3) Frog

(4) Labeo

150. Which one one of the following matches is
correct?

   

(1) Alternaria Sexual
reproduction
absent

Deuteromycetes

(2) Mucor Reproduction by
Conjugation

Ascomycetes

(3) Agaricus Parasitic fungus Basidiomycetes

(4) Phytophthora Aseptate
mycelium

Basidiomycetes

148.  I  II ,
, :

 I       II

a. ; i. 2500-3000 

b. ii. 1100-1200 

   

c. iii. 500-550 

   

d. iv. 1000-1100 

a b c d

(1) iii ii i iv

(2) iii i iv ii

(3) i iv ii iii

(4) iv iii ii i

149.

(1)

(2) 

(3) 

(4) 

150.  ,    ?

    

(1)

(2)  }

(3)

(4)
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151. Ribosomal RNA is actively synthesized in :-

(1) Nucleoplasm

(2) Ribosomes

(3) Lysosomes

(4) Nucleolus

152. In following three diagram identify A, B, C
and D respectively and find out the correct
match among the following set of options :-

 (B)

(A)

(C)

(D)

A B C D
(1)Shoot apical Hypocotyl Scutellum Endosperm

meristem

(2)Hypocotyl Shoot apical Scutellum Endosperm

meristem

(3) Scutellum Hypocotyl Shoot apical Endosperm

meristem

(4)Endosperm Scutellum Hypocotyl Shoot apical
meristem

153. Which of the following statement is correct ?
(1) Aspergillus niger is used for formation of

acetic acid
(2) Activated sludge is digested by aerobic

bacteria to produce marsh gas
(3) Flemming, Chain & Florey were

awarded with nobel prize for discovery of
penicillin

(4) BOD is amount of oxygen produced by
bacteria on decomposition

151.  RNA ; : ?

(1)  ( ; )

(2) 

(3) 

(4)  (

152. % A, B, C  D 
 %&

(B)

(A)

(C)

(D)

A B C D
(1)

(2)

(3)

(4)

153.

(1)  ,
, 

(2) ;  }

(3)  [ , ] 

(4) BOD,  }
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154. Which is the National Aquatic Animal of India ?
(1) Gangetic shark
(2) River dolphin
(3) Blue whale
(4) Sea-horse

155. Match the terms in Column-I with their
description in Column-II and choose the
correct option :

      

Column-I Column-II

(a) Dominance (i) Many genes govern
a single character

(b) Codominance (ii)

In a heterozygous
organism only one
allele expresses
itself

(c) Pleiotropy (iii)

In a heterozygous
organism both
alleles express
themselves fully

(d) Polygenic
inheritance (iv)

A single gene
influences many
characters

(a) (b) (c) (d)
(1) (ii) (i) (iv) (iii)
(2) (ii) (iii) (iv) (i)
(3) (iv) (i) (ii) (iii)
(4) (iv) (iii) (i) (ii)

156. To obtain virus - free healthy plants from a
diseased one by tissue culture technique,
which part/parts of the diseased plant will
be taken :-

(1) Apical meristem only

(2) Palisade parenchyma

(3) Both apical and axillary meristems

(4) Epidermis only

154. Hkkjr dk jk"Vªh; tyh; izk.kh dkSu&lk gS ?
(1) xaxk dh 'kkdZ

(2) unh dh MkWfYQu

(3) Cyw Ogsy

(4) leqnzh ?kksM+k

155. dkWye-I dh 'kCnksa dks dkWye-II esa fn, x, muds o.kZu ls eSp
dhft, rFkk lgh fodYi pqfu, :

dkWye-I dkWye-II
(a) izHkkfork (i) vusd thu ,dy y{k.k

dk fu;a=.k djrs gS

(b) lgizHkkfork (ii) fo"ke;q Xeth tho e s a
d soy ,d gh  , sy hy
Lo; a  dk s vfHkO;Dr
djrk gSA

(c) cgqizHkkfork (iii) fo"ke;qXeth tho es a
nksuksa gh ,syhy Lo;a dks

iwjh rjg vfHkO;Dr djrs
gSaA

(d) cgqthuh oa'kkxfr (iv),dy thu vuds
y{k.kk s a  dk s  i z Hkkfor
djrk gSA

dksM %

(a) (b) (c) (d)
(1) (ii) (i) (iv) (iii)
(2) (ii) (iii) (iv) (i)
(3) (iv) (i) (ii) (iii)
(4) (iv) (iii) (i) (ii)

156. Ård lao/kZu rduhd }kjk jksxh ikni ls fo"kk.kq&eqDr LoLFk ikniksa
dks izkIr djus ds fy, jksxh ikni ds fdl Hkkx@Hkkxksa dks fy;k
tk,xk :-

(1) dsoy 'kh"kZ foHkT;ksrd

(2) isyhlsM isjsUdkbek

(3) 'kh"kZ vkSj v{kh; foHkT;ksrd nksuksa gh

(4) dsoy vf/kpeZ
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157. Photosensitive compound in human eye is
made up of  :-

(1) Guanosine and Retinol

(2) Opsin and Retinal

(3) Opsin and Retinol

(4) Transducin and Retinene

158. Human urine is usually acidic because :-
(1) hydrogen ions are actively secreted into the

filtrate.
(2) the sodium transporter exchanges one

hydrogen ion for each sodium ion, in
peritubular capillaries.

(3) excreted plasma proteins are acidic
(4) potassium and sodium exchange

generates acidity
159. Pick the correct option with regards to given

below figure :-

a
b

c
d

(1) a = Squamous epithelium. Its function =
absorption

(2) b = Cuboidal epithelium. Function =
secretion only

(3) c = Columnar epithelium. It forms the
lining of stomach and intestine

(4) d = Ciliated columnar epithelium. It is
found in fallopian tubes

157. =  ;  :-

(1) 

(2) 

(3) 

(4) 

158. = ; ]  :-

(1) ; : , 

(2) ] 
; ,

(3) ; 

(4) ;] 

159. , , = ,%&

a
b

c
d

(1) a =  & 

(2) b =  & 

(3) c =  & ; ; 

(4) d =  ;
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160. In which of the following gametophyte is not
independent free living ?
(1) Marchantia
(2) Pteris
(3) Pinus
(4) Funaria

161. A stage in cell division is shown in the figure.
Select the answer which gives correct
identification of the stage with its
characterstics.

(1) Telophase
Endoplasmic reticulum
and nucleolus not
reformed yet.

(2) Telophase Nuclear envelop reforms,
golgi complex reforms.

(3) Late
anaphase

Chromosomes move
away from equatorial
plate, golgi complex not
present.

(4) Cytokinesis
Cell plate formed,
mitochondria distributed
between two daughter
cells.

162. A few drops of sap were collected by cutting
across a plant stem by a suitable method. The
sap was tested chemically. Which one of the
following test results indicates that it is phloem
sap?
(1) Low refractive index
(2) Absence of sugar
(3) Acidic
(4)  Alkaline

160.  ; = 

(1) 
(2) 
(3) 
(4) 

161. =  ,

(1)
)

(2)
)

; 
] 

(3)
 , )

= /;
] 

(4) ;

)

]

162.  }  ,
 ,

 ;
 ;  ?

(1)
(2) 
(3) ;

(4) ;
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163. Consider the following statements (A)-(D) each
with one or two blanks.
(A) Bears go into ......(1)..... during winter to

.......(2)......  cold weather
(B)A conical age pyramid with a broad base

represents ....(3)..... human population.
(C)A wasp pollinating a fig flower is an

example of ........(4)......
(D)An are a with high levels of species

richness is known as ............(5)..........
Which one of the following options, gives the
correct fill ups for the respective blank
numbers from (1) to (5) in the statements?
(1) (1) - hibernation, (2) - escape,

(3) - expanding, (5) - hot spot,
(2) (3) - stable (4) - commensalism,

(5) - marsh
(3) (1) - aestivation, (2) - escape,

(3) - stable, (4) mutualism
(4) (3) - expanding, (4) commensalism,

(5) - biodiversity park
164. Alexander Von Humbolt described for the

first time:

(1) Laws of limiting factor

(2) Species area relationships

(3) Population Growth equation

(4) Ecological Biodiversity

165. F2 generation in a Mendelian cross showed
that both genotypic and phenotypic ratios
are same as 1 : 2 : 1. It represents a case of :-
(1) Monohybrid cross with complete dominance
(2) Monohybrid cross with incomplete dominance
(3) Co-dominance
(4) Dihybrid cross

163.  (A)-(D) , 
 ,  ;  &

(A)  ......(1)..... 
 ....(2).... 

(B)
 ,  ....(3)..... 

(C)  ,
........(4)...... 

(D)  ,  { = 
] ............(5).......... 

 ,  (1)  (5) 
, 

(1) (1) - , (2) - ]

(3) - , (5) -  ( )

(2) (3) -  (4) - 
(5) - 

(3) (1) - , (2) - ]

(3) - , (4) 
(4) (3) - , (4) ,

(5) - 

164.

(1) 

(2)  { = 

(3) 

(4) 

165. ; , F2 <+
 ,  1 : 2 : 1  ;

 ?
(1)  ,

(2)  ,

(3) 
(4) 
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166. Match the following sexually transmitted
diseases (Column-I) with their causative
agent (Column-II) and select the correct
option :

Column-I Column-II

(a) Gonorrhea (i) HIV

(b) Syphilis (ii) Neisseria

(c) Genital
Warts (iii) Treponema

(d) AIDS (iv) Human papilloma-Virus

(a) (b) (c) (d)

(1) iii iv i ii

(2) iv ii iii i

(3) iv iii ii i

(4) ii iii iv i

167. Match Column-I with Column-II and select
the correct option using the codes given
below :-

  

Column I Column II

a Mons pubis i Embryo formation

b Antrum ii Sperm

c Trophectoderm iii Female external
genitalia

d Nebenkern iv Graafian follicle

Codes :

a b c d

(1) iii i iv ii

(2) i iv iii ii

(3) iii iv ii i

(4) iii iv i ii

166. -I ] ;
( -II ) , 

, :

-I -II

(a) (i) HIV

(b) (ii)

(c) (iii)

(d) AIDS (iv)

(a) (b) (c) (d)

(1) iii iv i ii

(2) iv ii iii i

(3) iv iii ii i

(4) ii iii iv i

167. -I -II 
 :-

 I  II

a i

b ii

c iii ;

d iv

 %

a b c d

(1) iii i iv ii

(2)  i iv iii ii

(3) iii iv ii i

(4)  iii iv i ii



Sample Paper - 1 , Page 53/56

168. The part  of  nephron involved in maximum
active reabsorption of  sodium is  :-
(1) Bowman's capsule
(2) Descending limb of Henle's loop
(3) Distal  convoluted tubule
(4) Proximal convoluted tubule

169. Which of the following is not a function of the
skeletal system?
(1) Locomotion
(2) Production of erythrocytes
(3) Storage of minerals
(4) Production of body heat

170. Choose the wrong statement :

(1) Yeast is unicellular and useful in fermentation

(2) Penicillium is multicellular and produces
antibiotics

(3) Neurospora is  used  in  the  study  of
biochemical genetics

(4) Morels and truffles are poisonous
mushrooms

171. Which one of the following statements is correct?

(1) In tomato, fruit is a capsule

(2) Seeds of orchids have oil-rich endosperm

(3) Placentation in Primrose is basal

(4) Flower of tulip is a modified shoot

172. The oxygen evolved during photosynthesis
comes from water molecules. Which one of
the following pair of elements is involved in
this reaction?

(1) Magnesium and Chlorine

(2) Manganese and Chlorine

(3) Manganese and Potassium

(4) Magnesium and Molybdenum

168. ] ; 

 :-
(1)
(2) 
(3) 
(4) 

169. = 

(1)

(2)

(3)

(4)

170. ,&

(1)  , ; 

(2)  ; 

(3)  /;;

(4) 

171.  ,  ?

(1) ]  ,

(2) 

(3) 

(4)  ,

172.
 ,  ;

(1)

(2)

(3)

(4)
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173. Sacred groves are specially useful in :-

(1) year round flow of water in rivers

(2) conserving rare and threatened species

(3) generating environmental awareness

(4) preventing soil erosion

174. Match the column-I with column-II and
choose correct option :-

Column-I Column-II

A Insulin i Fights infectious
agents

B Antibody ii
Enables glucose
transport into

cells

C Receptor iii Hormone

D GLUT-4 iv Sensory
reception

(1) A-iii, B-ii, C-iv, D-i

(2) A-iii, B-i, C-iv, D-ii

(3) A-i, B-ii, C-iii, D-iv

(4) A-ii, B-iii, C-iv, D-i

175. A molecule that can act as a genetic material
must fulfill the traits given below, except :-

(1) It should be unstable structurally and
chemically

(2) It should provide the scope for slow
changes that are required for evolution

(3) It should be able to express itself in the
form of 'Mendelian characters'

(4) It should be able to generate its replica

173. = 

(1) 

(2) 

(3) ; 

(4) 

174. -I -II 
 %&

-I -II

A i

B ii

C iii

D GLUT-4 iv

(1) A-iii, B-ii, C-iv, D-i

(2) A-iii, B-i, C-iv, D-ii

(3) A-i, B-ii, C-iii, D-iv

(4) A-ii, B-iii, C-iv, D-i

175. ]  :
] ] ; 

;  :-
(1)  :  :

,

(2) , , 

(3) ;  :
; 

(4)  ; ; 
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176. Transplantation of tissues/organs fails often
due to non-acceptance by the patient's body.
Which type of immune-response is mainly
responsible for such rejections?
(1) Cell - mediated immune response
(2) Hormonal immune response
(3) Physiological immune response
(4) Autoimmune response

177. Embryo with more than 16 blastomeres formed
due to in vitro fretilization is transferred into:-
(1) Fimbriae (2) Cervix
(3) Uterus (4)  Fallopian tube

178. Name the formed elements of blood, whose
reduction in number can cause clotting
disorder, leading to excessive loss of blood from
the body.
(1) Neutrophils (2) Thrombocytes
(3) Erythrocytes (4) Leucocytes

179. Which of the following joints would allow no
movement ?
(1) Ball and Socket joint
(2) Fibrous joint
(3) Cartilaginous joint
(4) Synovial joint

180. Which one is a wrong statement ?
(1) Brown algae have chlorophyll a and c and

fucoxanthin
(2) Archegonia are found in Bryophyta,

Pteridophyta and Gymnosperms
(3) Mucor has biflagellate zoospores
(4) Haploid endosperm is typical feature of

gymnosperms

176.  }

, 

[; % 

(1) /;

(2) 
(3) ; 

(4) 
177.  }  16 )

 :-
(1) (2) 
(3) ; (4) 

178.  : ] [;

   :-
(1) (2) 
(3) (4) 

179.
 ?

(1)  [  ( )
(2)
(3)
(4)

180.
(1)  a  c 

(2) ] ] 

(3)  
(4)
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